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I. With usual notations, prove that cotg = %%
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Find the rank of the matrix: A = 3 1 0 2 |
1 1 -2 1]
. 077 o4 i
3. Investigate the values of A and p such that the following system may have (i) unique
solution, (ii) infinitely many solutions and (iii) no solution.
x+y+z=6
x+2y+3z=10
x+2y+dz=p
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Solve the following system using Gauss Jordan method:

(07]
v+ y+z=10, 3x + 2y +3z=18, x + 4y + 9z = 16.
(07)
Find the dominant eigenvalue and the corresponding eigenvector of the matrix
6 -2 2
A= (_2 3 —1) by power method taking the initial vector as [1,1,1]7
2 -1 3
(Perform only 4 iterations).
Soive using Gauss Scidel method (perform only 3 iterations): (07

20x+y—2z=17
3x+20y—-2z=-18
2x — 3y + 20z = 25.

Show that the curves r=a(l+cosf) and r=a(l—cost)

intersect [07)
orthogonally.

Find the pedal equation of the curve 7™ = a™(cosmé + sinm@). [07]
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